Proportionalities and Basic Ratios
Name ________________________________________ Date _________________
Directions: Answer each multiple choice question with the best choice.  You will receive one extra credit point for each time you show work on any problem.  The quiz is worth 10 points.  

1) Which is the following is the lowest reduced form of the ratio of 4:12? 
a) 1:2



b) 
2:6
b) 1:3



d)
2:8
2) Circle the pair of ratios that are equivalent: 
a)

1   =   
2


b)
1
=
2
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c) 

2   =
4     


 d)
3 
= 
1



---
---



---

---


7
14



9

4
d)

3) Which ratio is NOT equivalent to1 to 2?  
a)
2 to 4




b)
3 to 6
c) 5 to 10




d)
10 to 18
4) Which ratio is less than 1:5?
a)
2: 3                                                
b)
1:3
c)   1:4                                                    d)
1:6
5) Fill in the following table: 
	X
	1
	2
	5
	8

	Y
	2
	4
	M
	16


a) m= 10                                                   b)
m= 19
c)
m= 15
                                                d)
m=  6
